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—n

e

#region using directives;
using System;
using System.Collections.Generic;
using System.ComponentModel;
using System.Data;
using System.Drawing;
using System.Ling;
using System.Text;
using System.Windows.Forms;
#endregion

leeasind A LaSal) ZES a3 A0 0l 3 LS 8 ke o Juiall Alls 3
el 3

m
w

st Wi
’ l',lf;l'.;‘ directiv

#region using directives;

/|

[=]|using System;

using System.Collections.Generic;
= using System.ComponentModel; o =1 : Form
using System.Data;
using System.Drawing;
using System.Ling;
using System.Text;
using System.Windows.Forms; ~ fomponent () ;
Zendregion

T

LS ) i L Aglia bl agale (oyad o aakial @llig culyaiall Jyead Jand (*)
p Al Jbad)

static void Main(string[] args)
{
//declaration part
sbyte one;
sbyte two;
sbyte dif;
int x;
//input part
one = 50;
two = 20;
//prossing part
dif = Convert.ToSByte (one - two);
X = one - two;
//result part
Console.WriteLine("the ok is {0}", x)

}



[3 € (N> 3L )i sl 53l
als sbyte  Lipidl 10U L lpany (e sl 5da Jie adaiod s il patial) ey Liad
Aoy Bl alasiul ayp WY elldgint as

caalin LS Ay 2 V) J2y aadiid) (S8 Saladl Jlall (i (*)

sbyte one;
sbyte two;
byte dif;
Console.WritelLine ("input the first number");
one = Convert.ToSByte ( Console.ReadLine())

Console.Writeline ("input the second number") ;
two = Convert.ToSByte (Console.ReadLine()) ;

dif = Convert.ToByte (one - two);
Console.Writeline ("the deference is {0}", dif);

Alay Wia 0. Jia dppie Ldle pe ady adiiall Jany of Junmiy U JE) 138 3 (*)
:double Leasin) WY
double one, two, dif;

Console.Writeline ("input the first number") ;
one = Convert.ToDouble (Console.ReadLine()) ;

Console.Writeline ("input the second number") ;
two = Convert.ToDouble (Console.ReadLine())

dif = Convert.ToDouble (one - two);

Console.Writeline("the one value is {0} and two value is {1} the deference is
{2}", one, two, dif);

String g Jalxill (*)
eaY] sl Ol s Lo adde Canaly Gl KU s
(psasdl) string gz Jol=sdl  //////1/

double one, two, dif;
string universty;

Console.WritelLine ("input universty and name") ;
universty = Convert.ToString (Console.ReadLine ());

Console.Writeline ("input the first number");
one = Convert.ToDouble (Console.ReadLine()) ;

Console.Writeline ("input the second number") ;
two = Convert.ToDouble (Console.ReadLine()) ;

dif = Convert.ToDouble (one - two);
Console.WritelLine (universty) ;

Console.WritelLine ("the one value is {0} and two value is {1} the deference is
{2}", one, two, dif);

}
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Ao dulis Adee (*)

51_:\'_;Lu.\_2_1\ uLx_l_A_x_H//
{
int x1 = 10, x2 = 3;
Console.WriteLine (x1 * x2);

el AL z1a) ) dalall ve

{
int x1 = 10, x2 = 3;
Console.Writeline (x1 % x2);

}
cJed KU Ay 8 bl il die ) (gglun 3l aaa
2L LS aaly Hlaiay X3 820 JUa (*)

int x1 =9 , x2 =3 , x3;
x3 = ++x1;

Console.Writeline (x3) ;
int x1 =9 , x2 =3 , x3;

Q<) By b galipl) Qi e Vo gslin oeill) a3 Cigus

¢ J;\j J\M x1 331&}3 Jla (*)
x3 = x1++;
Console.Writeline (x3) ;
Console.WritelLine (x1) ;

Ve %JW°J$X1}ﬁuSﬁéjuax3@u¥qy

it il | el i el il

Db Ve 32l Y uiall das ¢ Slais o) 3ol il Ji (alle 5 cam g/ 32c 8

int varl, var2 = 6, var3 = 6;
varl = var2++ * --var3 ;

//varl= 6++ * --6
//varl = 6 * 5
Console.Writeline (varl) ;

int varl, var2 = 6, var3 = 6;

varl = ++var2 * 5 + 5 * 2;

//var = ++6 * 5 + 5 * 2

//var =7 * 5 + 5 * 2
Console.WriteLine(varl);// sslws Lgiasd axs
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: Al b

int x1 = 10, x2 = 3, x3
x3 = x1++;

Il
w

Console.WriteLine (x3) ;// Lgioss Ladxs b yhe
Console.WriteLine(x1);//Lgians Lauxd su>| e

el yeidl J Agleall llaal) e anadill e el 0 AT Qb

ey

emaa U 25 llead) o) (e oSt Gl Gl @) aadiid

int total, salary = 1600, bounus = 5, tax = 5, rent = 10, living = 300;
total = (salary + bounus) - (tax + rent + living);

Console.Writeline (total);
YYQ. a%ﬁgﬂ‘CLéz Lé}u
false ;true e o Ldayil) dleall po b Qe A5)lhe s == Ll (*)

| Jul| e | o
On ol a3 raa (g5l ) Varl=var2==var3; | (- S _
o&all S Y Y
@slud are Al & maa g5l ) | Varl=var2l=var3 (o) S| 1=
Sally ¥y Y
e il Y Alla b s il ) | VarlEvar2 <vard o) G| <
Sally ¥
oo S Y s b e olus ) | Varl=var2>vard | G| >
Sally ¥
e S Y Ala 8 e gilos ) | Varl=var2 >=vard | (o) sl s
Y gsls

e sl Y Als b s g5l ) | Varl=var2 <= var3

\‘ Lﬁju ji

(@) S| =<
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VC4 partlguam

Console.Writeline("inter an integer");

int myint = Convert.ToInt32 (Console.ReadLine())

Console.Writeline ("integer less than 10? {0}", myint < 10);

Console.Writeline ("integer between 0 and 5 and ? {0}", (0 <= myint) &&(myint <
5));

Console.Writeline("integer is even {0}", myint % 2 == 0);

goto you;
Console.WriteLine ("have a good day");

you:
Console.Writeline ("the next code");

XS (2) p) LS 1) dagul) (S

BN Ch\Windows\systern32\cmd. exe
inter an integer
4

integer less than 187 True

integer hetween B and 5 and 7 True
integer iz even True

the next code

Prezs any key to continue .

of Lasliy . false dadll iy Gl1 use Adla 45 (Myint < 10) of Lash
. false dall gy ol (€e il 135 (Myint < 5)

s

.(even) Lasy myint iad ol Gl ¢ s =Y + myint ied SL U o Lash;
false gy duay il 13y

Cady 25 g0 10 YOU; Jiwl L daglaill alizll 243 Y g0 1O YOU; 44U dic aay
o lgiad Lo 245 YOU! daddadll ) zali il

Odinaana AUl Al el s o dagiin && ddle 1ddasale
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# ﬁq:ﬁ vcd partl - CH4_B —————————-—-———————————————————
:(convert) Jissill ENVS (amy

//short = convert.ToIntlé6
//long=convert.ToInt64
//double = convert.ToDouble

int mysring;

Console.Writeline ("input value");

mysring = Convert.ToInt32 (Console.ReadLine())

string res = (mysring < 10)? "mystring is less than 10" : "mystring is greater
than 10";
Console.Writeline (res) ;

(if statement) : if Al (*)

o I Aesend) Grud due o 2y O Jlaial e ST Ly Ayl Alaall (LS 1Y)
Sy de sanall (g Jae (55 (uld aaly Jlainl Ly dlaall cuilS 1) Wl ¢ pala sl
Sl

taaly Jlaia) dgag Adla—)

if (x == 7) Console.WriteLine("seven");

:C*gtdhs\dthgajhs'_v
if (x == 7)
{
Console.Writeline ("seven") ;
Console.Writeline ("sept with francais");

}
Dif s Je JBe

int x = 7;

if (x == 5) Console.WriteLine("five") ;

if (x == 6) Console.WriteLine("six");

if (x == 7)

{
Console.Writeline ("seven") ;
Console.Writeline ("sept with francais");

if (x == 8) Console.WriteLine("eight");
if (x!'= 6 && x '=5 && x !'= 7) Console.WritelLine ("UnNoun") ;

}



gl il AL oyl gud! Bl

Lan] yedai Ling 250 358 ylancal ddy,hall sdgy (Balad) JUl Luds Jue Juzad) (e S0

.else
int x = 7;
if (x == 5) Console.WriteLine("five");
else if (x == 6) Console.WritelLine("six");

else if (x == 7)
{

Console.Writeline ("seven") ;
Console.WritelLine("sept with francais");

}
else if (x == 8) Console.Writeline("eight");
else Console.WritelLine ("UnNoun") ;

)
("unNouN™) L & Gas e S e aily malind) a5, else

A8V 20lie iy Il (V)
ST G850 ) ST I 80 Ao liday asing (xedy O AL g aali AU, 8
Ch4 a8l G &) any Cpsloia cpadll

int a,b;
g:
Console.Writeline ("input the first (A)");

a = Convert.ToInt32 (Console.ReadLine()) ;

Console.Writeline ("input the second(B)");
b = Convert.ToInt32 (Console.ReadLine());

if (a > b) Console.WriteLine("A is greater than B");
else if (b > a) Console.Writeline ("B is greater than A");
else Console.WriteLine("A equals B");
goto g;
}

REPSEUR PRRE SIS PRGN RRYPIE N o) (o JYLPREG

# ... vcd partl - CH4_2
[12= ooy ol aelim

¢ apS oY) G sagan o sl 2 LY Aaly) Jagdad A £y il apyS Ll 38,5 ()
t S A puall Clasy Tsali s AN Annd) Algs 3 4580 505 15al8 iyl | il s
laysay Jandii (il Cajlamall Laa g yhae Slanall 2l (e 8l o z LY dad -
oS Caylas g Aol Cayliae

YTty

JsY) giiall e Ay %0 -

SOl ) e Ay %Y -



gl il AL oyl gud! Bl

Ll il e Ay %) .0 -
(Al + Lpmpiaaill) Capliadl) — lagall = #1)Y)

Al Al (DA I Ay peal) g ganas dupan S A alay) caglladl)
int L1, L2, L3;//olxit & G ghide JSH olsaose Jlax]
int ml1, m2, m3;//0lxis, S G aidie JSU dasaeas ) Gy Laedl o las]
int t1, t2, t3;//0lxis S G ahdie JSU Ao b5 Gy lae !l o Jlas|
int pl, p2, p3; //3—1—"—” JsJ Cl—US“
double taxl, tax2, tax3,totaltax;//_JlL.>Yl, zibe JSJ o5l pall

eI bt //
Jo¥ 1 pidad ) oleaaaldl daud Jlax] 1,381 5x5y//

Console.WritelLine ("input L1 total s, ");
Ll = Convert.ToInt32 (Console.ReadLine());
SRS G Y W IS O ) - - R R TR O Py
Console.WritelLine ("input ml total H");
ml = Convert.ToInt32 (Console.ReadLine()) ;
Console.WriteLine ("input ml total T");//// zised) dassiaidl deg il 1,81 ey
Jg¥ !
tl= Convert.ToInt32 (Console.ReadLine());// ‘Lol Gioylosdl — olaosadl = 2 LoyYI
oS0 +
pl = (L1) - (ml + tl1);
Console.WritelLine("total Arbah = {0}",pl);
taxl = (5 * pl ) / 100;
Console.Writeline ("dareba to the first product ={0}", taxl);
Console.Writeline ("Arbah {0} taxl {1}", pl, taxl);
Console.Writeline("--—-—--=—=—==—=————————— o ——— ")

U aidedr//
Console.Writeline ("input L2 total s, ");
L2 = Convert.ToInt32 (Console.ReadLine());
Console.WritelLine ("input m2 total H");
m2 = Convert.ToInt32 (Console.ReadLine()) ;
Console.WriteLine ("input t2 total T");
t2 = Convert.ToInt32 (Console.ReadLine()) ;

P2 = (L2) - (m2 + t2);
tax2 = (3 * p2 ) / 100;

Console.Writeline ("dareba to the second product ={0}", tax2);
Console.Writeline ("Arbah {0} tax2 {1}", p2, tax2);
Console.Writeline("--—---—--—--—="-"—"-"-"—"—"—-"—"—"——"—————~——— ")

S LS| GL;AJl//
Console.WritelLine ("input L3 total s, ");
L3 = Convert.ToInt32 (Console.ReadLine());
Console.WriteLine ("input m3 total H");
m3 = Convert.ToInt32 (Console.ReadLine()) ;
Console.WriteLine ("input t3 total T");
t3 = Convert.ToInt32 (Console.ReadLine()) ;

Console.Writeline("--—-—-—-——==—=—==——=———— e ——— ")

p3 = (L3) - (m3 + t3);

tax3 = (1.5 * p3) / 100;

Console.Writeline ("dareba to the third product ={0}", tax3);
Console.Writeline ("Arbah {0} tax3 {1}", p3, tax3);
Console.Writeline("--—-—=-——==—==——=——— - ——— ")
totaltax = taxl + tax2 + tax3;

Console.Writeline ("total tax is {0}", totaltax);
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ST sl g e gl dsyaa//
if ((taxl > tax2) && (taxl > tax3))
{
if (tax2 > tax3) Console.WritelLine("taxl, tax2, tax3");
else Console.WriteLine("taxl, tax3, tax2");

}

else if ((tax2 > taxl) && (tax2 > tax3))

{
if (taxl > ta x3) Console.WriteLine("tax2, taxl, tax3");
else Console.WriteLine("tax2, tax3, taxl");

}

if ((tax3 > taxl) && (tax3 > tax2))

{
if (taxl > tax2) Console.WriteLine("tax3, taxl, tax2");
else Console.WritelLine("tax3, tax2, taxl");

}

BN C:\Windows\system32\cmd.exe

input ml total T
100

total Arbah = 16080
2 to the first product
188 taxl 5
t L2 total s
m2 total

t2 total

t L3 total s

m3 total

1 product =1.

total tax is 2.5
taxl, taxZ, tax3
Press any key to continue .

o

O b delihay ) A8yl Al 050 Latin by Aelidag a8 36 Lyh o 96 maliy 4US, A8 (Y)
iad Y alall (e ISV apl) z)ls el ¥ atied il ) Gyl Aol ¥ atied S

Ch4_3 5);\

# .0 5 ved partl - CH4_3

Bigss UL IgY1 iyl //

int x;
Console.Writeline ("type your number between 1 to 3 ");
X = Convert.ToInt32 (Console.ReadLine())

switch (x)

{
case (1l): Console.Writeline("ganuary'"); break;
case (2): Console.WritelLine("fep"); break;
case (3): Console.WritelLine("fep"); break;
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default: Console.WriteLine("out of 1lst year quarter"); break;

g:
int x;

C:\Windows\system32\cmd.exe

type your number hetween 1 to 3
1

if a0 Al 4dy L)

Console.Writeline("type your number between 1 to 3 ");
X = Convert.ToInt32 (Console.ReadLine()) ;

if (x == 1) Console.WritelLine ("ganuary")
else if (x == 2) Console.Writeline ("febreuary");
else if (x == 3) Console.Writeline ("march") ;
else Console.WriteLine("out of quarter");
goto g;
}
. for «while «do while ay<all sl e 3 (*)
int 1 = 1;
do

Console.WriteLine (" {0}.

i++;

} while (i <= 10);

refaat", i);

int 1 =1;
while (i <= 10)
{

Console.WriteLine (" {0}.

i++;

LSS dsyynir//

refooooooooo00", 1i);

for (i = 1; i <= 10; i++)
{

Console.WriteLine (" {0}

LU isu kit //for

refaat hamed", i) ;
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Fml) A e slals 8 o5 4 Ly 4 5T (e e Dl galing Sy 15 (8)

Ch4_4 3\_._3.3‘)5]\ e\é}}“ &jmj
Ex
2456789
4 even no
21 odd sum

Al BN Jwiodd s sl WY s Even
s Al

int n;
int oddsum=0, evenno=0;

do
{
Console.WritelLine ("input numper") ;
n=Convert.ToInt32 (Console.ReadLine ());
if (n%$2==0) evenno=evenno +1;
else oddsum =oddsum +n ;

}

while (n'!=9);

Console.WritelLine ("oddsum {0} evenno {1}", oddsum, evenno);
}

-
C:\Windows\system32\cmd.exe
numpe ¥

numpe
numpe
numpe
numper
numper

numpe

oddsum 22 evenno 3
Press any key to continue . . .
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Ch4_5 JpsiSall dad alagls a5y gralip LS, 8 ()
Jall

O T
. (thjfﬁﬂ) (2 L
el Jy)siSall sa Lo Dlie 0 ) Livie
5*4*3*2*1
VYo = (YXYXYXE Cpen Juals) Lsed 222l e 5o Jyygi€all of
int £ o1
for (int 1 = x; i >= 1; i--)
{ £f=£f*1i;
' Cons?le.WriteLine("={0}",f )
VY = el A8l o i) jeday Cagas
Al J<ally 2580 (S b sheaS il (0) Al JyysSall el of Layl 1) W
int x = 5;
int £ =1;

for (int i = x; i >= 1; i--)

{
£f=f*1i;
Console.WritelLine("{O0}", £f);
}
'El}“aﬂ u} Wl WS K;éxﬂ\‘xyﬁﬂ‘jia
BN Ch\Windows\system32\cmd.exe
Press any key to continue .
Pol LS 2 pSl) cuiid JlAaY) 8 Sty aadtual) caayl 1)
int £ =1;
int re;

Console.Writeline ("input");

re=Convert.ToInt32 (Console.ReadLine()) ;
for (int i = re; i >=1; i--)

{
}

£=£ % i;

Console.WriteLine("{0}", £f);
}



gt (N3 S gy puad 530s
Yo JS Caeall lade el aLua) Ayl SLSE it Jag b de e LS (1)
axy bore 5K0u a8 Wlhoa A deludl die Vo 58 de )l Ll aae IS 1318 ¢ 306
ch4 6 iclu 54
Jall

badd AL ot Cayatd Wil gl GAgl ¥ JS Coaall laiey ST LKW (o Lide *
Andall i BIST LY LBy VY AREY T 8 SIS Cagu LSl (6 : del
for ddls aadiis Casu
t SIS 3 SU oy 1 1Y Akl

double pct = 10;

for (int i = 1; i <= 120; i++)

{
pct = pct * 2;
}
Console.WritelLine("{0} ", pct);
}

SY s (Aady 14) Aol DA LSl sae (p3as adains s double Lasly Lid
Aclull 3y VYo gl 288 8 e of Camall ot 2y Liale LS il
Wl S 13gy 2580 3,US adaias 140l 4y k)

double pct = 10;

for (int i = 1; i <= 60; i++)

{
pct = pct * 4;
}
Console.WritelLine("{0} ", pct);

}
Y e Yar (£) X POt WSl Uypmg Yo e Yy <60 ity Liad el o34 b
Bpmal) 8 (58 LS Aal) ks Lot

| |—
BN Ch\Windowshsystem32\cmd.exe

W1 .32922799578492E+37
j@Fre=z=z any key to continue . .
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el dad (e %0 (g5l Al Andy apansi o aainy Hliall g8 pUas W) 3 (V)
e VY sl Ve Call Ale JST AL 0 503l Gl g AlalaaS V0 call Yo i)
(o it Ailia) fllee iy o) AlSa) e SI Upeed 30 A s e o (Y
t Y alagl o ¥ Gaales Al Vo g gl il Jlad o We el cud) e
) e gy Gped el il ypaudiy (giidiall ol JY1 5ei VY D) ome dey OIS 5 )
aang ed JS Gl aaag led pandll iy ) el axe ey Jgan (e
i) dlad) ann g apaddl dludll
Sl g A 3230 g oanas eal) o) jaa aya a8 Jeaadl 128 Lled e Y
Ch4_7 43 s2508) ¢ ganas Alalaal) dad dilia) 2ay  Slaa!
s Jla
Home=300000
First pay = 5% = 15000
File=20000 4lalaa (sl

300000-15000= 285000

First 12 month 0.005 fayda in all 100,000 $
285000 * 0.005 fayda = 1425

1425 * 12 month = 17100 in the first year

YY) v e 3ailh ab Cogus A Jy) 3

Dl JS (e Uyl V€Y 0 500l dlaw elie (agllae Al Al 3

(YAC v 1) sa ol ol e (e aiady gty Uped VEYO e 8aly) Cundy 5l Uajd
(VEYO) = %r.vvo 32l x (YA v v) Jyiall dad slaws olia Cagllag *

VEYe sl pmw el OVe Caaldicagud 1 la el (B HY Voe v a4l :Lfi
VEYo —Vove =Yuuu o ol aila

S Al e Jo¥) el Auled ay Claall B ()58

YAYEYo =YoVo — YAO v

(VEVY) = Po0.vv0 5233 X (YAYEYO) Jhaall dad dlaw clia Csllae SUI e al) 4 *
Gl el 3a3lal) dad
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static void Main(string[] args)

{
double price;// ool Lwo Il jrwll

double priceAfter;
double precent;//si & 5Ll

Y Sl e BusLadl o Jlest//
double firstyear;

Sl gBadl 1 wia//
double pay;

L:g)gf | Paz' | )‘.\_LA//
double p2;

inputagine:

Console.WritelLine ("input the price");

price = Convert.ToInt32 (Console.ReadLine()) ;

if ((price < 300000) || (price > 1000000)) goto inputagine;
precent = 0.05 * price;

Console.Writeline ("5 % = {0}",precent);

Console.Writeline("to open file you must pay 20000");
priceAfter = price - precent;

Console.Writeline ("priceAfter = {0}" , priceAfter );

firstyear = priceAfter * 0.005 * 12;

Console.Writeline ("profit payed for the first 12 mounths ={0}", firstyear);
Console.Writeline ("How many to pay each month") ;

pay=Convert.ToDouble (Console.ReadLine ());

int month=0;
double tprofit=0;

do

{
month ++;
p2=0.005 * priceAfter ;
tprofit += p2;//or- tprofit = tprofit + p2

priceAfter = priceAfter - (pay - p2);
Console.WriteLine("{0} home price left {1} profit month {2} home pay
{3}",month ,priceAfter,p2,pay - p2);

} while (pricelAfter > 0);
Console.WritelLine("--—---—--—-—-—=——-————————————————— ")
double total = price + 20000 + firstyear + tprofit ;

Console.Writeline ("total home coast {0} ", total);

}
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}

# VC5Partl (:f{5_;1::::::::::::::::::::::::::::::::::::::

static void Main(string[] args)

{
int a;
float b=6.0f;
a = checked((int)b) ;

Console.WriteLine (a) ;
Console.ReadKey () ;

}

##CFB_Zpanl:::::::::::::::::::::::

ushort x1;
char x2 = 'b';
xl = x2;
Console.WriteLine ("ushort ={0}", x1);
Console.Writeline ("char={0}", x2);
//
ushort x3;
char x4 = 'B';
x3 = x4;
Console.Writeline ("ushort ={0}", x1);
Console.Writeline ("char={0}", x2);

//

char x5;
int i;

for (1 =1; i <= 100; i++)
{

x5 = (char)i;
Console.Writeline("char ={0}", x5);
Console.WriteLine ("number={0}", i );

##CFB_Spaﬂl:::::::::::::::::::::::

short shortResult, shortvVal = 4;
int integerVal = 67;

long longResult;

float floatVal= 10.5F;

double doubleResult, doubleVal
string stringResult, stringVal
bool boolVal = true;

99.999;
Uy AL

Console.Writeline ("Variable Conversion Examples\n") ;
doubleResult = floatVal * shortVal;
Console.WritelLine ("Implicit, - > double: {0} * {1}
doubleResult) ;

- > {21",

floatVal,shortval,
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explicit oo 2 Y LSV jal) gginy Jay implicit LSV sy o (Sa L))

Type Can safely be converted to
Byte short, ushort, int, uint, long, ulong, float, double, decimal
Shyte short, int, long, float, double, decimal
Short int, long, float, double, decimal
Ushort int, uint, long, ulong, float, double, decima
Int long, float, double, decimal
uint long, ulong, float, double, decimal
Long float, double, decimal
Ulong float, double, decimal
Float Double
Char ushort, int, uint, long, ulong, float, double, decimal

#VC5Part2 CH5_4::::::::::::::::::::::::::

class Program

{

L=1,
xL,
xxL,

xxxL = L+7

clothes x ;

enum clothes

static void Main(string[] args)

x =(clothes)2;
Console.WriteLine (x) ;

}
}

e+ C:\Windows'\system32\,cmd.exe
xL

Press any key to continue . . .
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# VVC5Part2 CH5_5::::::::::::::::::::::::::
static void Main(string[] args) i 8 2sSU i<, (¥)

enum orientation : byte

{

north =1,
south = 2,
east = 3,
west = 4

}
{

byte directionByte;
string directionString;

orientation myDirection = orientation.north;

Console.Writeline ("myDirection = {0}", myDirection)
directionByte = (byte)myDirection;

directionString = Convert.ToString (myDirection) ;
Console.Writeline ("byte equivalent = {0}", directionByte)
Console.Writeline ("string equivalent = {0}", directionString);

}
) Aad e Juans a cllys byte g5 o directionByte el Cagpey Lid

myDirection cujsi cua o JAay)) f ZDE S ¥

Jadilgdy struct e st (*)
class Program

{

struct student

{
public string name;
public int markl,mark2,mark3;
public float averag;

}

static void Main(string[] args)

{
student studentl, student2, student3;

studentl.name = "ahmed";
studentl .markl = 60;
studentl .mark2 = 65;
studentl.mark3 = 85;

studentl.averag = (studentl.markl + studentl.mark2 + studentl.mark3)

Console.Writeline (studentl.averagqg) ;
Console.WritelLine("{0}, {1}", studentl.name, studentl.markl);

.(W~ 3 lA;D 9 Yo G?Lﬂ\Lﬂ J@LH Lé}m
. S0l struct Jala struct g s oSas



gl il AL oyl gud! Bl

s struct Il alisl public due i Vs . AN (1o Ladaal 5e)y8 ki s
LAY Struct I aca e i adaind
:A8LaY) JaaYy JUal) 28l . s Struct 4ila) s Galud) Jliad) s el

class Program

{

struct note

{
public string Birthday;

struct address

{

public int sector, streat, home;

public note nt;

}

struct student

{
public string name;
public int markl,mark2,mark3;
public float averag;

public address adres; // strcut address Js! ., strcut student

}

static void Main(string[] args)

{

student studentl; //, student2, student3;

studentl.adres.nt.Birthday = "1397";
studentl.name = "ahmed";
studentl.markl = 60;

studentl.mark2 = 65;

studentl .mark3 = 85;
studentl.adres.sector = 510;
studentl.adres.home = 10;
studentl.adres.streat = 30;

studentl.averag = (studentl.markl + studentl.mark2 + studentl.mark3)

Console.Writeline (studentl.averag) ;

Console.WriteLine (studentl.adres.sector );// icl.b i.. 3 strcut adres
Console.WritelLine("{0}, {1}", studentl.name, studentl.markl);
Console.Writeline (studentl.adres.nt.Birthday) ;

}

.struct student Jalx struct adress Laal 5, LS
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: struct Jaly enum e Cas Capes o W &) (Vs

struct note

{
public string Birthday;

struct address

{

public int sector, streat, home;

public note nt;

}

struct student

{
public string name;
public int markl,mark2,mark3;
public float averag;

ol dsRi psds dgw//
public direc orient;

public address adres; // strcut address Js!., strcut student

}

static void Main(string[] args)

{

student studentl; //, student2, student3;

studentl.orient = (direc)l;
studentl.adres.nt.Birthday = "1397";
studentl.name = "ahmed";

studentl .markl = 60;
studentl .mark?2 65;
studentl.mark3 = 85;
studentl.adres.sector = 510;
studentl.adres.home = 10;
studentl.adres.streat = 30;

studentl.averag = (studentl.markl + studentl.mark2 + studentl.mark3) / 3;
Console.Writeline (studentl.averagqg) ;

Console.WriteLine (studentl.adres.sector );// icl.b i.. 3 strcut adres
Console.WriteLine (" {0}, {1}", studentl.name, studentl.markl);
Console.Writeline (studentl.adres.nt.Birthday) ;

/ey L lib

Console.Writeline (studentl.orient) ;

}
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# VVCoPartl CH6_1::::::::::::::::::::::::::

class Program

{

//function (write)

static void write ()

{
Console.WritelLine ("one") ;
Console.WriteLine ("two") ;
Console.Writeline ("three") ;

static void Main(string[] args)

{
[/ o5 le Sl id,,b
write() ;

# VCoPartl (:f{6_;&::::::::::::::::::::::::::::::::::::::
(V0) Ua + L L) Jyysi€al) walys of @l Y (pall 13 U8
X1, X2, X3 :Jie jxie e SISV JyysiSail) Gy a5 (San Al dagaill Zaphl) & o2
: ) JEl L
/7 Tkl Leouwdidl Jpaxdd e ByaiSoddl 35Sy G pitos

// 5! = 5%4*3%2%1= 120 , 4! = 4*3*2%1= 24
// y =5!"+ 4! + 3! 51 y =120 + 24 + 6

, 3! = 3*%¥2%]1= 6 ===== 150

int x1 =5, x2 = 4, x3 = 3;
inty, f1 =1, £2 =1, £3 = 1;

/155 wS| sosSedd do)siSill e Jsandl gybiai]

for(int i =1; i<= x1 ; i++)
{
£l *= i;

}

for (int i = 1; i <= x2; i++)
{

£f2 *= i;
}
for (int i = 1; i <= x3; i++)
{

£3 *= i;
}
y = f1 + £2 + £3;
Console.Writeline(y) ;
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function alasaul o JHall dayll) W
GasSs el Ui wiss//

static int face (int x)

{
int £ =1;
for (int 1 = 1; i <= x; i++)
{

£ %= i;
}

return (f);

static void Main(string[] args)

{

y = (face (x1) + face(x2) + face (x3));
Console.WriteLine(y) ;

Console.Writeline (face (x1) + face (x2) + face (x3));
c(Yor) Syl Ag (Vo) Asgull aad Caga
S L) el AT Jlia

class Program

{

DIl Joanw e pldnl desame aoxs of Loo,yl 131 5L pasols wiss Lia //

static int addition(int x1, int x2, int x3, int x4)
{

int sum;

sum = x1 + x2 + x3 + x4;

return (sum);

}

static void Main(string[] args)

{

int y, x1 =5, x2 = 4, x3 = 3;

Console.Writeline (addition(10,20,30,40));

() e r) Al aad Cagu
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# VC6Partl CH6_3========================== (00:22:14
pparams ge siall e daaty
: WS function Jaxy a8

class Program

{

//function

static int ser(params int[] d)

{
int m = d4[0];
foreach (int val in d)

{

if (m < val) m = val;}
return (m);

static void Main(string[] args)

Console.Writeline(ser(1l, 4, 3,4,5,6));

AL, L
i S s ) JEY1 el ST e () ) o T Al aad Caga

# VC6Partl CH6_4:::::::::::::::::::::::::: Yy EA

reference Guyb e suiall oy e haah Cagu
static void doublenumber (ref int wval)

{
val *=2;
Console.Writeline (val) ;

}

static void Main(string[] args)
{
int mynumber = 10;
Console.WritelLine (mynumber) ;
doublenumber (ref mynumber) ;
Console.WritelLine (mynumber) ;

X bl Yo Sl Y e V) ) 8 Jus KU 8 dasil) aad Cag
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# VC6Partl CH6 5========================== (00:38:09
reference (s L Gyl out aaalisall 4aSH e Ehaamh
A el 13a S 1) ting Fad Agdaaty dad 4 Gud AN el pe Jala QUL G (340
. maxIndex Allall e el 2als dad 4l Lul (K ald Ut 4K Lk 1304 dad
A1) Ay Jadiats 4l 50 Y ad ey dad 4 oA i) e Jula reference L
$.aLaY)

//function 5 out

static int MVi(int[] intArray, out int maxIndex)
{
int maxVal =
maxIndex = 0;
for (int i =

{

intArray [O0];
1; i < intArray.Length; i++)

if (intArray[i] > maxVal)
{
maxVal = intArray[i];
maxIndex = i;
}
}
return maxVal;

}

static void Main(string[] args)

{

//function 5 out
lnt[] A= { 1/ 8/ 3/ 6/ 2/ 5/ 9/ 3/ 0/ 2 };
int Index; //<

Aad 2y Chguny alil) L) il 18 Aad (51 (g5l iall 1aa o LuiS 51 Liaf/
Maxval

Console.Writeline ("The maximum value in myArray is {0}",MVi(A, out
Index)) ;

Console.Writeline ("The first occurrence of this value is at element
{or",
Index + 1);
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# VVCoPartl CH6_6:::::::::::::::::::::::::: 00:48:01
«lpiall a2 o variable scope ce dhaati Caga

class Program

{

static int x;

static void write ()

{
Console.Writeline ("func write {0}", Program.x);
x = 18;
GASS L 3 s S| o uses Y4y edladl e oS! oias Ui //
}
static void Main(string[] args)
{
int x = 5;
Program.x = 12;
Console.Writeline ("mainl Local {0}", x);
Console.Writeline("main2 {0}", Program.x);
x = 16;
write ()
Console.WritelLine ("main3 {0}", x);
}

: IS oS R5LE 8 el il Al aad Ciguns

indows'system32%,c

main2 12
func write 12
main3 16

Preszs any key to continue .

# VCOoPartl CH6_7::::::::::::::::::::::::::Ol:00:45
class Program

{

static string mystring;

static void write()

{
string mystring = "starting define in write ()";
Console.Writeline("now in write");
Console.Writeline("loacl mystring = {0}", mystring);
Console.Writeline("global mystring = {0}", Program.mystring)

}

static void Main(string[] args)

{
int £d;
Console.Writeline ("function 6 variable scope");
string mystring = "string defined in main()";
Program.mystring = '"global string";
write()
Console.WriteLine("\n Now in main ()");
Console.Writeline ("Local mystring={0}" ,mystring );
Console.Writeline("globel mystring = {0}",Program.mystring) ;
Console.Writeline() ;

il 5| C: Windows' system 32',cmd.exe

Hfunction 6 variable scope

Bnow in write

Bloacl mystring = starting define in write )
Holobal mystring = globhal string

| Mov in main <>

Blocal mystring=string defined in main{)
Bolobel mystring = global string

Press any key to continue . . .
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# VC6Part2 CH6_8::::::::::::::::::::::::::)._.,A:,_z,j\ 2\:,\3_.,

static void Main()

static void Main(string[] args)
static int Main()

static int Main(string[] args)

ution Explarer - che_g

al e 2| =

::] Solution 'ché_8' {1 project)

Build

. sy .2 -~ *\ ! M L:~1 \’.\'\ L‘s‘ ‘. L A
A 0822 aleiul @Mj debug (e & ) L il
t5yall b 5 WS debug ,tiass properties PuBleh.

add 4
Application Skark Options add Reference...
] add Service Reference. .,
Build Command line argurients:
Set as StartUp Projeck
Build Events Deb
=bug »
Debug*
Working directory:
Resources ¥ Enable the Yisual Studio hosting process ]-
4 ;’( Remove
Services ! "
Enarne
Settinas

Properties

— arguments J elesiny 3N el

class Program

{

static void Main(string[] args)

{

Console.Writeline ("command line arguments were specified:", args.Length);
foreach (string arg in args)

{

Console.Writeline (arg) ;

" Windows' system32 cmd.exe

command line arguments were specified:
hi

B

am refaat vousry
SEE YOW S00N.
Pres=z any key to continue . . .

I BID %
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# VVCoPart2 CH6_9:::::::::::::::::::::::::: 00:08:01

struct ;e sy

struct student
{
public string name;
public int biomark;
public int chmark;
public int medmark;
double average;

public void set(string nl, int ml, int m2, int m3)
{

name = nl;

biomark = ml;

chmark = m2;

medmark = m3;

average = (biomark + chmark + medmark) / 3;

public void print()
{

Console.Writeline("------—-=-=—=—--- student------------- ")
Console.Writeline("name is {0}", name);

Console.WritelLine ("biomark is {0}", biomark):;
Console.Writeline ("chmark is {0}", chmark);
Console.Writeline ("medmark is {0}", medmark);
Console.Writeline("average is {0}", average)
Console.Writeline("-—-—------—---—-—-—"————"——"—"———————————— ")

static void Main(string[] args)
{
student sl
student s2
student s3

new student();

new student();

new student();

sl.set("mohamed", 29, 30, 12);
s2.set("ahmed", 23, 25, 10);
s3.set("sara", 24, 30, 15);

sl.print();
s2.print();
s3.print() ;
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#VC6Part2 CH6_10

class Program

{

//overloading

overloading zss) ,34Y1 g Jolxi]l

static int add(int a, int b)

{return (a + b);}

static int add(int a, int b ,int c)

{return (a + b + ¢);}

static int add(ref int a,

{
a += 3;
b += 4;
return (a + b);

}

static double add(double
{return (a + b);}

ref int b)

a, double b)

static string add(string a, string b)

{return (a +" "+ b);}

static void Main(string[] args)

{

int ml = 10;
int m2=5;
int m3 = 7;

double dl= 10.3;
double d2 = 5.3;

string sl "maha";
string s2 = "ashraf";

Console.Writeline("integer 3 = {0}",add (ml,m2,m3));
Console.WritelLine ("integer normal = {0}",add(ml,m2)) ;
Console.Writeline ("integer ref={0}",add(ref ml,ref m2));
Console.Writeline ("double= {0}",add(d1,d2));
Console.Writeline ("string ={0}",add(sl, s2));

=====—=—=—=====—=—=—==—==——=—======((:28:21

i S Jels



€ (N> 3L )i sl 53l
# VCoPart?2 CH6_]_1::::::::::::::::::::::::::OO:42:42

iy delegate mpsill (e AS5H s

class Program
{
yyarayasal

delegate double processDelegate (double multiply, double divide) ;

static double multiply(double paraml, double param2)
{

return paraml * param2;

static double divide (double paraml, double param2)
{

return paraml / param2;

static void Main(string[] args)
{
processDelegate process;
Console.Writeline ("inter 2 number with comma") ;
string input = Console.ReadLine() ;
int commapos = input.IndexOf(',6');
Console.WritelLine ("length to input.length ={0} " ,input.Length );

//oUsST Jgb s lws dew input U

double x1 = Convert.ToDouble (input.Substring(0, commapos)) ;

double x2 = Convert.ToDouble (input.Substring(commapos + 1,
(input.Length - commapos - 1)));

Console.Writeline("enter M to multiply or D to divide");
input = Console.ReadLine() ;

if (input == "M")

process = new processDelegate (multiply)

else

process new processDelegate (divide) ;

Console.WritelLine ("result is :{0}",process (x1,x2));

Console.Writeline ("the place of commapos here <,> = {0} ",
commapos) ;
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# VC7 Partl CH7_1:::::::::::::::::::::::::: ATEEN ﬁ_\:ﬁ 2\:,\.3_.,

class Program

static void Main(string[] args)

/* DateTime d = DateTime.Now;
Console.WritelLine("today is {0}", d);

Debug.Writeline(string.Format("-----—---—-—-—-——-———-—-—————————————~ "))
Debug.WritelLine (string.Format("today is {0}", d));
D7bug.WriteLine(string.Format(" ——————————————————————————————— "))
*

int[] testArray = (4, 7, 4, 2, 7, 3, 7, 8, 3, 9, 1, 9};
int[] maxValIndices;

int maxVal = Maxima (testArray, out maxValIndices)

Console.Writeline ("Maximum value {0} found at element indices:",maxVal) ;
foreach (int index in maxValIndices)

{

Console.Writeline (index) ;

}
Console.ReadKey () ;

// function
static int Maxima (int[] integers, out int[] indices)

Debug.WritelLine ("Maximum value search started.");
indices = new int[1];

int maxVal = integers[0];
indices[0] = 0;
/* Trace.Assert(maxVal == 10, "Variable out of bounds.",

"Please contact vendor with the error code Arab01.");*/
int count = 1;
Debug.WritelLine (string.Format (
"Maximum value initialized to {0}, at element index 0.", maxVal));

for (int 1 = 1; i < integers.Length; i++)

Debug.WritelLine (string.Format ("Now looking at element at index {0}.", i));
[/ " IU Dlexdl 0SS A salas sl o0 selas Y1 asls 13
Debug.WriteLineIf (i == || i == 8,string.Format("hi danti"));

if (integers[i] > maxVal)

maxVal = integers[i];
count = 1;

indices = new int[1l];
indices[0] = i;

Debug.WritelLine (string.Format (
"New maximum found. New value is {0}, at element index {1}.",maxVal, 1i));

}

else
if (integers[i] == maxVal)

count++;

int[] oldIndices = indices;

indices = new int[count];

oldIndices.CopyTo (indices, 0);

indices[count - 1] = i;

Debug.WritelLine (string.Format ("Duplicate maximum found at element index {0}.",

i)):
}

i
Trace.Writeline (string.Format ("Maximum value {0} found, with {1} occurrences.",
maxVal, count));

Debug.WriteLine ("Maximum value search completed.");
return maxval;

}
}



gl il AL oyl gud! Bl

# VC7 Partl CH7_2:::::::::::::::::::::::::: 001835 or
00:19:10

:debug dy,k Y]
Aiaals debug pe dalaill e dapy Jlie

class Program

{

static void Main(string[] args)

{

int ro =1, x=5;

for (int i = 1; i <= x; i++)

{

ro = ro * i;
Lgtiand oS L5050 oY1 ools 13 byd a>ss Lia //
Debug.WriteLineIf (i==3,string.Format("ro={0}, i={1}", ro, 1i));

doo il olus //
Debug.WriteLine (string.Format("ro={0}, i={1}",ro,1i));

} // tracepoint Juxl Lo il ol oSacad! (e
Console.Writeline (string.Format ("factorial of 5 is {0}",ro));
Console.WriteLine("ok") ;

Debug.WriteLine ("debug mood") ;
Trace.WritelLine ("trace mood") ;

debug dalay malizll Juris e outpuUt 25LE 8 yelay Casn Lo 12a
Y A (e ST Jaih ajaall jeliis ¢ paiisall el ¥ lasleall oda of alell as

ro=1l, i=1
ro=2, i=2
ro=6, i=3

ro=6, i=3

ro=24, i=4
ro=120, i=5
debug mood

trace mood
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:trace point 4,k t Gl

debug ) diplay malipdl Jsds e Jeads cdebug I 3yl s (o i 4

B VRE BN (P P RUPN | o W JPONR Y PR V| Y SN | e E g BN P PE WY 2
. tracepoint «— Breakpoint

e Lgmyai o app i Alead) S gppall 3 i
Result now is {ro} and {i}

condition Ljd gy ankiivs GlIX
: Breakmode ik @ GG

Dl LI daz o o5 candls A yee 5 3 lad) laas 1 VS W Lol Ak
.debug I Jsin & elyen ddais clala] el
s LA &\}.ﬂ

: local aaLall-)

O 0% Yy {} Ao sanall ke o Lo ang ) Ul A e o sk Aulae AGLE s
el JS il il

:Auto sy

bl ae f chsnd) e CilS g galind) JS 000 4] Lgie Cangl)

: watch aslali-v

Al asd zalipll et o aDIA (e aodiidise Adlpe A5LS Aol Watch Alal) s
il Ly

call stack aali—¢

bl s malind) d dgage il ol DA (e oy AGLE o2
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# VVC7 Part?2 CH7_4:::::::::::::::::::::::::::::::

catch s try 4&y)h :¢Uadl) st 4l sldaal error handling : )
class Program

{
static void Main(string[] args)

{
int[] a= {0, 1, 2 };

int w = 0;
try
{ _
Uz | o> oda //
//al6] = 9;

o e dewidl Hemo ¥ SUIL Uasdl //

Console.WriteLine(8 / w);

}

catch (System.IndexOutOfRangeException e)
{
Console.WritelLine("catch 1 is " + e.Message)

}

catch (System.DivideByZeroException e)
{
Console.Writeline("catch 2 is " + e.Message);

}
finally

{

Console.Writeline ("there are an error");

exceptions « deubg oo ¢l cliSes ¢UasV) £ 150 A e ) 13)
:3)3al b LS view Detail.. a5 Uasl) g5 & jea 5,000 iy

throw;

I i IndexOutOfRange bt e ption was unhandied X
B ASVATY e was outside the bounds of the amy,
Troubleshooting tipc
Make sure that the munmum nder on o ik rleos than the bt core 1 -
Make suze the index i not 3 negatnee numbaer
Make sure dats column namas are cormect

Get gerveral hidp for this Exception
Messages v 4
Seach for made Help Onling...

Lt
Ac tioa:

Wiew Detail..

Copy exception detail to the dipboard
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b Ghld el il l Gued
Object Oriented Programing

Interface
QLIS (e pazl) aeny

disposable P (e Glly Ky 3,SIA Gy il
H3%a 2SI Sag
< ClassName > < VariableName > = new < ClassName > ();

Using ( < VariableName >)

{

}
1138 dgadl 8 using g
using ( < ClassName > < VariableName > = new < ClassName > ())

{

}
BRI jpad dolasy o sty Jlllg
il o duas g :Interface
e SS1 f sagi A (ISIL Leials 25 methode 8 claglaa) (e de sene apend
oS e SS) aeny Interface Y oS
:Inheritance :44))ll
) paibiad aea o gsing O Jaa s oY) I QY) GOSN Gy oK
sealed g5 (e Y (OIS (IS 1Y)
:polymorphism : JIKiY1 aaxs
QSN HLatA) 4ia Cangl
Jidl sa 13ag



€ (N> 3L )i sl 53l

Cow myCow = new Cow();

Chicken myChicken = new Chicken();
myCow.EatFood();
myChicken.EatFood();

EatFood L myChicken ;.le (=la EatFood L MyCow (ff il Gaye

AT

:Relationships Between Objects :object (ju ClElal)
rone s (e o ¥ i) i
1- Containment://¢)gis
adl ey SN Jae & o) abiing JV) ¢ QS G Al @llia S adl i
LA e laglea o st Canoay o aakiieg
oSaiy Jo¥l5 Jo¥) 3 aSaill e 5pa8 s ()9S (SUI ) @il STy Al iy say
b s e SBI 4

2- Collections://cile sanxa

Operator overloading:
ASY Hlaid) AP e W) (Saa
8|9
iIf (cowA.Weight > cowB.Weight)
{

}
LOSEN 13gs SN laia) elld e Y Sas
if (CcowA >cowB)

{
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#//\VVC8 Partl CH8_1:::::::::::::::::::::::::: )_m:\gj‘ Aol

public partial class Forml : Form

{

public Forml ()
{

InitializeComponent() ;

}

private void buttonl Click(object sender, EventArgs e)

{

((Button) sender) .Text = "clicked";
//buttonl.Text = "click";

Button newButton = new Button();

//newbutton.Click += new EventHandler (newbutton_ Click) ;
newButton.Click += new EventHandler (newButton Click) ;

newButton.Text = "newButton";
Controls.Add (newButton) ;

}

private void newButton Click (object sender, EventArgs e)

{
((Button) sender) .Text= "cllicked";

//newButton.Text = "clicked";

MessageBox.Show (" newButton.Click += new
EventHandler (newButton_Click) good") ;

}
#//\VC10 Partl CH9 l==============o===oooooo=oms gl 4l

Class oSl e dhaat Cagu

- Ja g il 8 el S ¢ Al s internal g5 e (sSs el iY) (DIK)

internal abstract class abstra

{
}

class sun : abstra

{
}
static void Main(string[] args)
{
// abstra ref = new abstra (); Legis! 3 (S Y

}
AV il 8 el 8 (Sad pUDIC g5 (e DS e 13) L

public class abstral

{
//ele Y Loyl s3Y1 aoyliadly godadl J31s 45s1 48 Sy
}
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new Gpb oo asluiinl (Say Y gl abstract g5 e DS 06 o Saal (g *

.o WS AT (IS abstract oo (Sas) o s o) (Sa oK)
abstract class indian

{
}

static void Main(string[] args)

{
indian ind = new indian(); LgJs! 38 S Wb JId (S ¥
}

Public o< o (Sae (s internal oS off (Sae Abstract 4k ale *
GOAS Lt i) i Y Ll e sealed g5 g DS LS 1Y) L #
(o LS NeW Jae mokii (K1 L aie Bhll (Ko Y asie V) Jaad Ll ol & saa

class Program

{

internal sealed class refaat

{
}

static void Main(string[] args)

{

refaat refo = new refaat ();

}
Ry d; O ol oS Vs anls il Y Al 0sSs oF oSa Y oY) W) syl ¥
A0 )
S oS0 ((Aaly) internal (S s (ple) public OIS Sy S Y *
 Sall
public J Public J internal ) internal ¢u,s (S

class arab {}

public class egypt : arab { }
public ¢s5 o egypty internal gs5 g arab ¥ ddd oSan ¥ gablly //

srall G sakall Gy o oS 0SI gakall o saaSE Sy of oSy YK

public class arabchild : arabOk { }
//public class egypt : arab {} _iall o oSOl &4 ol oSy Y
class egypt : arab { }// ,iall (o yuiall &y ol S
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Modifier Meaning

none or internal Class accessible only from within the current
project .

public Class accessible from anywhere .

abstract or internal abstract Class accessible only from within the current
project, and cannot be instantiated, only derived
from .

public abstract Class accessible from anywhere, and cannot be

instantiated, only derived from .

sealed or internal sealed Class accessible only from within the current
project, and cannot be derived from, only
instantiated .

public sealed Class accessible from anywhere, and cannot be
derived from, only instantiated .

sinterface gypas J @k casu
sealed Ys abstract ¥ interface Il & aag ¥
Al e U 0SS Y class o e Ul sae aud DU (6S of o< interface
Laalg
internal interface skill { }
interface skills { }
interface it : skill,skills { }

class im : it { }

class lion{}

class tiger { }
interface Jjungle{ }
interface desert { }
interface mountain { }

class wildcat: tiger , jungle , mountain { } [/ JSa i Juwesl gSay Ui

class cat : tiger, jungle, mountain { }

OSars (ol bll) wildcat oSl (il (e H3ST Ey s (S Yy Y s tiger ol
Laals WS interface e JiS1 Jua s
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/IVC10 Partl CH9_2:::::::::::::::::::::::::: ﬁj._.,_ﬂ\ 2\3\3_.,
class Program

{

public abstract class Mybase { }

class Myclass : Mybase { }

interface Mybaseinterface { }
public interface myBaseinterface2 {}
interface myinterface { }

interface AllMyinterface : Mybaseinterface, myBaseinterface2 { }
sealed class AllCompletleyclass : Myclass, myinterface { }

static void Main(string[] args)
{
AllCompletleyclass opjec = new AllCompletleyclass();
Console.WritelLine (opjec.ToString()) ;
}
}

#//\VVC10 Partl CH10_3:::::::::::::::::::::::::: ﬁ_\_ﬂﬂ\ Al

class human

{

string s;
int age;

//consructor 1
public human ()
{

Console.Writeline("you just initiate in inctance ");

}

//costructor 2

public human(string sl, int agel)
{

s = sl;

age = agel;

Console.WritelLine("{0}, {1} ",s, age);
}

static void Main(string[] args)
{
human a = new human();// ¥ «5Y Jo¥1 58S 5wieSdl Lol psdy ow

* a.s="mohamed";/ Jlo gul w! osdedl o U3 ead @Yl dy> sl ald 13
human b = new human("mohamed", 23);// Jo o siJdl 5SS bwoeSIl e dxo Lia
wl oo Vels gudl ea Vowdl oY pgland aahid ouzgy e d
//b.s = "refoo";
//b.age = 29;
//Console.WriteLine ("name is {0}, age {1}",a.s,a.age);
//Console.WriteLine ("name is {0}, age {1}", b.s, b.age);



gl il AL oyl gud! Bl

igal Ao Llaal) Lgie Carglly calaall of incapsulation &y dege idais (ye Giaals
SV it L el paldll Main 1 pasas V) o ¥ i sl
el ST Alea lly dasy s dilie aad s QS

o] (2t ¢ Ly cONStrutor g 381 Jue i35 overloading due gk LS
LS|

toy o LS ST alipll yeka 2y Y

class Program

{

public class human
{

string s;

int age;

//consructor 1 L.l o1 wiaall
public human ()
{
Console.WritelLine("you just initiate in instance ");

}

//costructor 2 _SL.l i usdsell

public human(string sl1, int agel)
{

s = sl1;

age = agel;

Console.WritelLine("{0}, {1} ",s, age);
}

/] ol 5 dsblese jaxs ¥ O aSmoeV Il gaeas Lgie Guagll
~human ()
{
Console.Writeline ("the human is destroyed") ;
}
}

/] s @IS g0 S dod> @S
public class student : human// JU L goesn OV @Sl GeSs ol 4o ¥

int id;
int sum; i wlyo dlgo gaw §aoxe //

public student() { }
public student(string s2 , int age , int idl, int suml)
base (s2,age)
{
id = idl;
sum = suml;
Console.WritelLine("name is {0} , age is {1} student id is {2},
sumation is {3} ", s2, age, idl, suml);

}
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static void Main(string[] args)

{

human a = new human ¥ 43Y J,¥1 59, 5u5e<l delohy ppdy Gew// ¢ ()

human b = new human ("mohamed", 23); siJl 5SS 5wieS Il e Sy L //

w!l o2 Ywlg Gwdl g N (Gl UYWWDDﬁﬁWM

Console.WriteLine ("% %%k koo e e e e e e 1)

//a.s = "mohamed";
//a.age = 23;

//human b = new human () ;

//b.s = "refoo";

//b.age = 29;

//Console.WriteLine ("name is {0}, age {1l}",a.s,a.age);
//Console.WriteLine ("name is {0}, age {1}", b.s, b.age);

student ¢ = new student("ali",22, 250,2000);

A== = R e n-o-8- I
o] C\Windows' system32% cmd.exe

vou just initiate in instance
Lmohamed,. 23

illali,. 22
Ename iz ali . age is 22 student id is 2568, sumation is 2008
the human is destroyed
the human is destroyed
the human is destroyed
Prezsz any key to continuwe . . .

- base(s2,age) ilall ide Wl ali, 22 o LaaY
:studeng S sl e JS) s il dasles aila 3y Calial L

public student() :this ("mohamed",0,0,0) { }

tialail) o2 CiSE Main ) g

student d = new student ();

this o))sa aay casws public student §lall widl ) Gladl malill asdy Cagoid

'ﬁ# ia{ﬁ ?éﬂ\dé Qg Q;lh HANLLJ\ e 1) oo Caad
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/IVVC10 Partl CH10_4:::::::::::::::::::::::::: sanal) Ayl

O L) adiins s . agineals Object browser sclass view oe ¢iaas
Laalaa) e view Al (e aras
- oiSas¥s SLISH ) Jeasl) Dgen Leginanls

class Program

{

class ararb
{
int x1;
int x2;

}

class arabl : ararb ,er

{
}

interface er { }
class b747h : b747 { }
static void Main(string[] args)
{
}
LIS o el aylgns laalia) 23 il (IS s odag
class Classl

{
}

class b747 { }

class b747b : b747 { }

interface fly { }

interface flyl : fly { }

/ol

class b747c : b747, fly ,£flyl { }

//VC10 Partl CH10 5 class liberary ============= ;14| 4jn
Byall o2 Lipia) QLS (e a5 Jous SO (e Way Lijial (S 35S Joany Lidd
032 pde KAl Al S 2o Jiadyy QOIS e A0S0 Lima (585 s classLiberary
oY) A8l Ailis pumg o) ALl pung
internalClass : sty externalClass :JsY) Luawy cuudlS 4l o383 Ll *
.80 1 SBs public @ JsY)
-J dass s build solution Jess aldll ods Y Iy aay
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/IVC10 Partl CH]_O_S project:::::::::::::::::::::::::: :\-’..\3:’
el

Neilanl L ) AaSal) 4 i s e o el g9 pdie Jany Liad Y

Add T 2] x| osoft ¥isual C# 2008 Express Edition

Project | Buld Debug Data  Tools  Wind:

" MET | com | Projects Browse | recent | B
=] Add Windows Form, ..

Lookin: | | Debug e mE ] Add User Control..,

Pl & [-| omatzms |~ e .
S

(| ClassLibraryl.dll TE b pieioh gl gl ¢ Add Class... Shit+AC
sie| | Add Mew Item... CtrH-Shift+a
i AddExisting Item...  Shift+al+a

Exclude Fram Project

27 Show all Files

| | Add Reference. .
File riarne: I j &dd Service Reference. ..
Files of type: IComponent Files [*.dil;" Hb." olb.* ocx;” exe.” manifest] j et as StartUp Project
ok | cancel h
ance | I Consolefpplication] Properties, .,

cao LSl U_L;i s bdaod l danSall d8loly pads

Al et o)) aabiin Ayl 03¢y

using ClassLibraryl;

class Program

{
static void Main(string[] args)
{
externalClass a = new externalClass();
Console.WriteLine("{0} ", a.ToString());
}

:i\_)\;_‘//VClO Partl CH]_O_G project::::::::::::::::::::::::::
Gilhans 4lilay auls abstract class aoaid

abstract class cat ‘
// S ladaz o FI S V! (v:.oig WS ij}x_u.\_zi sz‘ Sw | ) JiJA_m
{1}
class kit : cat { }

interface details { }// puod, il ausiael Sl
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static void Main(string[] args)

{

abstract Lg5¥ dJ3 Sy Y5 cat (. intstance Jas Loyl 13
kit a = new kit();

tadll
i

WS 1 yUad Ol ! ylad Ja yUad

05355 (Ul Ui — s s — (i Hlkd) adad Leg abstract g5 e ¢Sy il
A

W) e i £ i) (Y abstract g5 (e ixs Wyl 3dy,hll 038

JAid 318
)

3yl Jlad
\ 4 l
" Q5w -
| Aonoca 5yl bid 3w N wrl "
s S Hlad ol ylad Jad ylad

Bl ae il «daede Byl (1Y) oY llyg interface st Cag JU) laa
LSJG é}uﬂ‘gsé(JgéﬂdiﬂtiﬁA; LA@A(JAQL&QﬁJ‘LyHﬁ‘éj «LQLS)“ JLLﬁ» 9 «QECLiﬂ\céAM
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gailbiadll (uds 8 (S ide «oadll Hlady g «loraz 3)lun Wadls . alS ) [XVENFSDEN
) g8l b gy WS Linterface dae e D ¢ ALEN LAY Jea 4y

Jaid1 3130
5yl slad
} A0 5yl B3 bid 5yl IS M1 yUad oo yllad Ja ylad
el
Interface Interface
IPassengerCarrier IHeavyLoadCarrier
:Struct type

value Type g5 o o5& Struct
reference Type s (e oS L
3R A Gl s e instance jdg case oI instance dee e

Instance J-A&-i C'—I-Agj class MyClass{public int wval} Al CIaSS LE-JAG UI'S jj

e




gl il AL oyl gud! Bl

;L WS objectB 5 objectA
MyClass objectA = new MyClass() ;
MyClass objectB = objectd;

: i@ﬁ cnlS )E
objectA.val = 10;
objectB.val = 20;
dA’_jQLLAEJ
Console.WritelLine ("objectA.val = {0}", objectA.val);// = 20
Console.WritelLine ("objectB.val = {0}", objectB.val);// = 20

) & A Hal oY ey W Yo = objectB 5 Y+ = ObjectA iad aai Cosus
3SIA 8 Aalual) s

s LS ) Laea
aaally ¢ 3R 8 Gl eds e i ref type g9 e 0 oI Classes

asally ¢ 58I & dibie S e yas value type gs5 o <Sliu) Stract

e aaally 5SIA 3 ik cSW e ag ref Type 58 o0 :String
3,SIA) Javas JUa 124

\

objectA —_|

objectB — |

W

20

StructA ——— 30

structB ———>1| 40
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Rl (e il o0 MRl s degualiad| 022

LRt § (gumd | o sl (5000 0| Ll uni] (ool Jouaradd

public void TestSize(string path)
{

DirectoryInfo di
FileInfo[] fiArr
// Directory Name
MessageBox.Show (di . Name) ;

foreach (FileInfo £ in fiArr)

// File Name + " " File Size

// MessageBox.Show Will Use As Follow MessageBox.Show ("Message", "Message Title
(Header) " ,"Button Type ","Button Icon")

MessageBox.Show(f.Name + " " + f.Length);

}

new DirectoryInfo (path) ;
di.GetFiles() ;

private void buttonl_Click (object sender, EventArgs e)

{

TestSize ("C:\\");



€ (N> 3L )i sl 53l

il i 0| /S bd] 2t 0 Dbiienal| gy ) R

Properties

buttonl Svstem,Windows,Forms,Button

AutoSize False
AutoSizeMode arowonky

| BackCalor [ ] 255 128; 255

Bau:kgru:uunu:ﬁmage [ | tnone)
BackaroundImagelayon Tile

Causesyalidation True
ZonkextMenustrip (none)
Cursor Default
DialogResult Mone
Diock, Mone
Enabled True
FlatAppearance
BorderColar Il Elack
Bordersize 1

MouseDowrBackCol ] 255; 128; 128
MDuseOverBackCDID- Red

Flatstyle Flat
Font Tahoma; Spt
ForeCaolor Bl cControlTest
GenerateMember True
Image |:| (none)
Imagedlign MiddleCenter
Imagelnde:x |:| (none)
Imagekey |:| (none)
ImageList (none)
Location 96; 69
| rrked Falca

FlatAppearance
For buttons whose FlakStyle is Flatstyle.Flat,

detarmines thie anmearancs nf Fhie hardee and Fhe

Messagebox.show("'welcom™'+ textbox1.text);
button a1 3 dailly

auto size L of 4 olsie S Ala b aabaiug *

) e o Al aaa iy e Al true Leleas
. Yl

flat ol zia, s flat Lleal flat  style oo *

AT o 3l Al e e s appearance

catY Y





